JS≣

CURRENCY DERIVATIVES

CURRENCY FUTURES AND OPTIONS MATCHED TRADES

REPORT FOR 29/06/2016

Johannesburg Stock Exchange

One Exchange Square, Gwen Lane, Sandown, South Africa Private Bag X991174 Sandton 2146

Tel: +27 11 520 7000 Fax: +27 11 520 8584

www.jse.co.za

Registration number: 2005/022939/06

VAT number: 4080119391

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
8:38:07	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2,535	2,535,000	15.3580		(38,932,530.00) Member	Sell
8:54:16	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1,850	1,850,000	15.4708		28,620,980.00 Member	Buy
8:54:20	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5,000	5,000,000	15.4394		(77,197,000.00) Member	Sell
8:54:28	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	15.6187		31,237,400.00 Member	Buy
8:55:40	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	15.3724		(384,310.00) Member	Sell
8:55:40	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	15.3724		384,310.00 Client	Buy
8:55:42	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	12	12,000	15.3387		184,064.40 Client	Buy
8:55:42	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	12	12,000	15.3387		(184,064.40) Member	Sell
8:55:52	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.2972		1,529,720.00 Member	Buy
8:55:55	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	35	35,000	15.3129		(535,951.50) Member	Sell
8:55:55	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	35	35,000	15.3129		535,951.50 Client	Buy
8:56:01	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	15.3049		7,652,450.00 Client	Buy
8:56:01	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	15.3049		(7,652,450.00) Member	Sell
8:58:14	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.3035		(1,530,350.00) Client	Sell
8:58:14	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.3035		1,530,350.00 Member	Buy
9:00:41	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.3318		(1,533,180.00) Member	Sell
9:01:44	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.3660		1,536,600.00 Member	Buy
9:02:09	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.3154		(1,531,540.00) Member	Sell

Page 1 of 13 2016/06/29, 06:15:59PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
9:02:09	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.3154		1,531,540.00 Client	Buy
9:02:23	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	40	40,000	15.5843		623,372.00 Member	Buy
9:02:23	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	40	40,000	15.5843		(623,372.00) Client	Sell
9:04:26	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	8	8,000	15.3050		122,440.00 Member	Buy
9:04:26	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	8	8,000	15.3050		(122,440.00) Client	Sell
9:06:23	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	15.3037		3,060,740.00 Member	Buy
9:06:23	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	15.3037		(3,060,740.00) Client	Sell
9:06:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.3001		76,500.50 Client	Buy
9:06:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.3001		(76,500.50) Client	Sell
9:06:26	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	15.3000		(765,000.00) Client	Sell
9:06:26	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	15.3000		765,000.00 Member	Buy
9:07:49	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	15.2694		381,735.00 Member	Buy
9:09:55	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	15.2786		7,639,300.00 Member	Buy
9:09:55	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	15.2786		(7,639,300.00) Client	Sell
9:10:35	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	15.2800		(3,056,000.00) Client	Sell
9:10:35	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	15.2800		3,056,000.00 Member	Buy
9:10:46	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	15.2800		(382,000.00) Member	Sell
9:11:07	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.2644		(1,526,440.00) Member	Sell
9:11:07	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.2644		1,526,440.00 Member	Buy
9:11:24	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.2644		1,526,440.00 Member	Buy
9:11:24	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.2644		(1,526,440.00) Member	Sell
9:11:34	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.2700		76,350.00 Client	Buy
9:12:26	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.2600		(1,526,000.00) Client	Sell
9:12:26	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.2600		1,526,000.00 Member	Buy
9:12:32	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.2614		1,526,140.00 Member	Buy
9:12:32	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.2614		(1,526,140.00) Member	Sell
9:13:28	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.2553		(1,525,530.00) Member	Sell
9:13:28	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.2553		1,525,530.00 Member	Buy
9:15:02	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.2512		76,256.00 Member	Buy
9:15:02	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.2512		(76,256.00) Client	Sell
9:15:06	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	28	28,000	15.7950		442,260.00 Member	Buy
9:15:06	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	360	360,000	15.7950		(5,686,200.00) Client	Sell
9:15:06	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	52	52,000	15.7950		(821,340.00) Client	Sell
9:15:06	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	52	52,000	15.7950		821,340.00 Member	Buy
9:15:06	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	117	117,000	15.7950		(1,848,015.00) Client	Sell
9:15:06	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	28	28,000	15.7950		(442,260.00) Client	Sell
9:15:06	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	768	768,000	15.7950		12,130,560.00 Member	Buy
9:15:06	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	117	117,000	15.7950		1,848,015.00 Member	Buy
9:15:06	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	360	360,000	15.7950		5,686,200.00 Member	Buy
9:15:06	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	768	768,000	15.7950		(12,130,560.00) Client	Sell
9:17:17	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	4	4,000	15.2500		(61,000.00) Client	Sell
9:18:47	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.2500		(152,500.00) Client	Sell
9:19:14	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	320	320,000	15.2500		4,880,000.00 Client	Buy

Page 2 of 13 2016/06/29, 06:15:59PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
9:19:14	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	306	306,000	15.2500		(4,666,500.00) Member	Sell
9:19:50	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.2499		(152,499.00) Client	Sell
9:19:50	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.2499		152,499.00 Client	Buy
9:20:38	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.2700		(152,700.00) Client	Sell
9:24:46	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	15.4200		385,500.00 Client	Buy
9:24:46	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	15.5200		388,000.00 Member	Buy
9:24:46	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	15.5200		(388,000.00) Client	Sell
9:24:46	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	15.4200		(385,500.00) Member	Sell
9:27:31	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	15.2500		3,050,000.00 Member	Buy
9:27:31	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	15.2500		(3,050,000.00) Client	Sell
9:27:33	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	300	300,000	15.2500		4,575,000.00 Member	Buy
9:27:33	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	300	300,000	15.2500		(4,575,000.00) Client	Sell
9:29:49	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	122	122,000	15.2721		(1,863,196.20) Member	Sell
9:30:00	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	80	80,000	15.5388		1,243,104.00 Member	Buy
9:30:00	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	80	80,000	15.5388		(1,243,104.00) Client	Sell
9:31:20	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.2721		152,721.00 Client	Buy
9:31:20	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.2721		(152,721.00) Member	Sell
9:39:02	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.3910		1,539,100.00 Client	Buy
9:39:20	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	300	300,000	15.2700		(4,581,000.00) Client	Sell
9:39:20	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	300	300,000	15.2700		4,581,000.00 Member	Buy
9:43:17	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.2898		(152,898.00) Member	Sell
9:43:17	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.2898		152,898.00 Client	Buy
9:47:51	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	350	350,000	15.2745		5,346,075.00 Member	Buy
9:51:44	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	350	350,000	15.2645		(5,342,575.00) Client	Sell
9:51:44	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	350	350,000	15.2645		5,342,575.00 Member	Buy
10:00:19	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	333	333,000	15.2555		(5,080,081.50) Client	Sell
10:00:59	\$ / R 30/06/2016	Any day expiry	0.00	1	1,000	14	14,000	15.0025		210,035.00 Member	Buy
10:00:59	\$ / R 30/06/2016	Any day expiry	0.00	1	1,000	14	14,000	15.0025		(210,035.00) Client	Sell
10:01:19	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	15.2500		(30,500.00) Client	Sell
10:01:19	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	15.2500		30,500.00 Client	Buy
10:02:24	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	23	23,000	15.2500		(350,750.00) Member	Sell
10:02:24	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	23	23,000	15.2500		350,750.00 Client	Buy
10:02:24	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	30	30,000	15.2499		(457,497.00) Member	Sell
10:02:24	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	30	30,000	15.2499		457,497.00 Client	Buy
10:04:23	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	300	300,000	15.2441		4,573,230.00 Member	Buy
10:04:23	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	300	300,000	15.2441		(4,573,230.00) Client	Sell
10:04:26	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	40	40,000	15.2522		(610,088.00) Member	Sell
10:04:26	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	40	40,000	15.2522		610,088.00 Client	Buy
10:07:26	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.2555		(76,277.50) Client	Sell
10:17:21	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	4	4,000	15.2726		61,090.40 Member	Buy
10:17:21	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	4	4,000	15.2726		(61,090.40) Client	Sell
10:42:22	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	15.2555		(381,387.50) Client	Sell
10:42:24	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1	1,000	15.2555		(15,255.50) Client	Sell

Page 3 of 13 2016/06/29, 06:15:59PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
10:42:31	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	196	196,000	15.2555		(2,990,078.00) Client	Sell
10:45:17	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	15.2318		(304,636.00) Client	Sell
10:45:17	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	15.2318		304,636.00 Member	Buy
10:48:06	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.2385		152,385.00 Client	Buy
10:48:06	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.2385		(152,385.00) Client	Sell
10:50:30	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.2300		(1,523,000.00) Member	Sell
10:51:07	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	143	143,000	15.2750		(2,184,325.00) Client	Sell
10:51:07	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	143	143,000	15.2750		2,184,325.00 Member	Buy
10:56:32	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	15.2400		(30,480,000.00) Client	Sell
10:56:32	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	15.2400		30,480,000.00 Member	Buy
11:08:03	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	24	24,000	15.2250		(365,400.00) Client	Sell
11:08:03	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	24	24,000	15.2250		365,400.00 Member	Buy
11:10:45	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	14	14,000	15.2361		(213,305.40) Member	Sell
11:12:49	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.2301		(1,523,010.00) Member	Sell
11:15:03	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.2537		(76,268.50) Member	Sell
11:15:03	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.2537		76,268.50 Client	Buy
11:15:17	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.2401		1,524,010.00 Client	Buy
11:15:17	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.3301		(153,301.00) Member	Sell
11:25:12	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1,500	1,500,000	15.2953		22,942,950.00 Client	Buy
11:25:12	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1,500	1,500,000	15.2953		(22,942,950.00) Member	Sell
11:38:29	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.2789		(76,394.50) Member	Sell
11:38:29	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.2789		76,394.50 Client	Buy
11:39:56	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	127	127,000	15.2742		(1,939,823.40) Member	Sell
11:43:59	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.2766		(152,766.00) Client	Sell
11:55:36	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	15.2755		(15,275,500.00) Member	Sell
11:55:36	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	15.2755		15,275,500.00 Client	Buy
11:55:36	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	15.2755		15,275,500.00 Client	Buy
11:55:36	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	15.2755		(15,275,500.00) Member	Sell
12:07:43	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	15.2477		3,049,540.00 Member	Buy
12:07:43	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	15.2477		(3,049,540.00) Member	Sell
12:12:40	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1,400	1,400,000	15.3580		21,501,200.00 Client	Buy
12:12:40	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	135	135,000	15.3580		2,073,330.00 Client	Buy
12:12:40	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	15.3580		15,358,000.00 Client	Buy
12:15:51	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	1,100	1,100,000	15.5455		17,100,050.00 Client	Buy
12:15:51	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	15.5400		(7,770,000.00) Member	Sell
12:16:09	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	15.2563		(762,815.00) Member	Sell
12:16:09	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	15.2563		762,815.00 Client	Buy
12:16:26	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	15.5608		31,121,600.00 Client	Buy
12:16:26	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	15.5608		(31,121,600.00) Member	Sell
12:18:38	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	15.5500		(7,775,000.00) Member	Sell
12:18:38	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.5500		(1,555,000.00) Member	Sell
12:20:54	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	130	130,000	15.2500		1,982,500.00 Client	Buy
12:20:54	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	130	130,000	15.2500		(1,982,500.00) Member	Sell

Page 4 of 13 2016/06/29, 06:15:59PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
12:31:38	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	15.2694		(3,053,880.00) Member	Sell
12:31:38	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	15.2694		3,053,880.00 Client	Buy
12:51:18	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1,200	1,200,000	15.2487		18,298,440.00 Member	Buy
12:51:18	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	760	760,000	15.2487		11,589,012.00 Member	Buy
12:51:18	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1,200	1,200,000	15.2487		(18,298,440.00) Client	Sell
12:51:18	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	760	760,000	15.2487		(11,589,012.00) Client	Sell
12:55:41	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	15.2720		7,636,000.00 Client	Buy
12:55:41	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	15.2720		(7,636,000.00) Member	Sell
13:08:29	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	15.2450		(381,125.00) Member	Sell
13:08:29	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	15.2450		381,125.00 Client	Buy
13:30:14	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5,000	5,000,000	15.4444		77,222,000.00 Client	Buy
13:30:14	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	15.4894		(7,744,700.00) Member	Sell
13:33:39	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.5400		77,700.00 Client	Buy
13:33:39	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.5400		(77,700.00) Member	Sell
13:50:02	\$ / R 15/08/2016	Any day expiry	0.00	1	1,000	503	503,000	15.1440		(7,617,432.00) Member	Sell
13:50:02	\$ / R 15/08/2016	Any day expiry	0.00	1	1,000	503	503,000	15.1440		7,617,432.00 Client	Buy
13:58:33	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	15.2400		(381,000.00) Client	Sell
13:58:33	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	15.2400		381,000.00 Client	Buy
14:02:09	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.2454		(1,524,540.00) Member	Sell
14:02:09	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.2454		1,524,540.00 Client	Buy
14:08:57	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.2388		152,388.00 Member	Buy
14:08:57	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.2388		(152,388.00) Client	Sell
14:15:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	15.2100		304,200.00 Client	Buy
14:15:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	15.2100		(304,200.00) Client	Sell
14:16:01	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	15.2000		30,400.00 Client	Buy
14:16:01	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	15.2000		(30,400.00) Client	Sell
14:16:01	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	15.2000		(380,000.00) Client	Sell
14:16:02	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	8	8,000	15.2000		121,600.00 Client	Buy
14:16:02	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	8	8,000	15.2000		(121,600.00) Client	Sell
14:22:46	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	15.1900		303,800.00 Client	Buy
14:22:46	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	15.1900		(303,800.00) Client	Sell
14:24:07	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	15.2000		(760,000.00) Member	Sell
14:24:07	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	15.2000		760,000.00 Client	Buy
14:24:52	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	15	15,000	15.2209		(228,313.50) Member	Sell
14:24:52	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	15	15,000	15.2209		228,313.50 Client	Buy
14:38:39	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	15.2000		380,000.00 Client	Buy
14:43:23	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.2000		(152,000.00) Client	Sell
14:43:23	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.2000		152,000.00 Client	Buy
14:43:23	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	16	16,000	15.2000		243,200.00 Client	Buy
14:43:23	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	16	16,000	15.2000		(243,200.00) Client	Sell
14:52:30	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	6,000	6,000,000	15.2884		(91,730,400.00) Member	Sell
14:54:27	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	15.2041		3,040,820.00 Member	Buy
14:54:27	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	15.2041		(3,040,820.00) Member	Sell

Page 5 of 13 2016/06/29, 06:15:59PM

14:54:39 \$ / R 19 14:56:31 \$ / R 19 14:56:33 \$ / R 19 14:56:34 \$ / R 19 14:58:23 \$ / R 19 15:01:51 \$ / R 19 15:11:02 \$ / R 19 15:39:32 \$ / R 19 15:51:47 \$ / R 19 15:56:18 \$ / R 19 15:56:38 \$ / R 19 15:56:51 \$ / R 19 15:56:52 \$ / R 19 15:56:54 \$ / R 19 16:00:19 \$ / R 19 16:02:01 \$ / R 19 16:02:01 \$ / R 19 16:02:01 \$ / R 19 16:02:18 \$ / R 19 16:03:36 \$ / R 19 16:06:16 \$ / R 19 16:06:16 \$ / R 19 16:06:20 \$ / R 19	ontract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
14:56:31 \$ / R 19 14:56:33 \$ / R 19 14:56:34 \$ / R 19 14:58:23 \$ / R 19 15:01:51 \$ / R 19 15:11:02 \$ / R 19 15:11:02 \$ / R 19 15:39:32 \$ / R 19 15:51:47 \$ / R 19 15:56:18 \$ / R 19 15:56:38 \$ / R 19 15:56:54 \$ / R 19 15:56:551 \$ / R 19 15:56:54 \$ / R 19 16:00:19 \$ / R 19 16:02:01 \$ / R 19 16:02:01 \$ / R 19 16:02:01 \$ / R 19 16:02:18 \$ / R 19 16:06:16 \$ / R 19 16:06:16 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.2041		152,041.00 Client	Buy
14:56:33 \$ / R 19 14:56:34 \$ / R 19 14:58:23 \$ / R 19 15:01:51 \$ / R 19 15:11:02 \$ / R 19 15:39:32 \$ / R 19 15:51:47 \$ / R 19 15:55:47 \$ / R 19 15:56:18 \$ / R 19 15:56:38 \$ / R 19 15:56:54 \$ / R 19 15:56:55 \$ / R 19 15:56:54 \$ / R 19 16:00:19 \$ / R 19 16:02:01 \$ / R 19 16:02:01 \$ / R 19 16:02:01 \$ / R 19 16:02:18 \$ / R 19 16:02:18 \$ / R 19 16:06:16 \$ / R 19 16:06:16 \$ / R 19 16:06:20 \$ / R 19	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.2041		(152,041.00) Member	Sell
14:56:34 \$ / R 19 14:58:23 \$ / R 19 15:01:51 \$ / R 19 15:11:02 \$ / R 19 15:11:02 \$ / R 19 15:39:32 \$ / R 19 15:51:47 \$ / R 19 15:56:18 \$ / R 19 15:56:38 \$ / R 19 15:56:51 \$ / R 19 15:56:52 \$ / R 19 15:56:54 \$ / R 19 15:56:54 \$ / R 19 16:00:19 \$ / R 19 16:02:01 \$ / R 19 16:02:18 \$ / R 19 16:06:16 \$ / R 19 16:06:16 \$ / R 19 16:06:20 \$ / R 19	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1,349	1,349,000	15.2884		20,624,051.60 Client	Buy
14:58:23 \$ / R 19 14:58:23 \$ / R 19 15:01:51 \$ / R 19 15:11:02 \$ / R 19 15:11:02 \$ / R 19 15:39:32 \$ / R 19 15:51:47 \$ / R 19 15:56:18 \$ / R 19 15:56:38 \$ / R 19 15:56:51 \$ / R 19 15:56:52 \$ / R 19 15:56:54 \$ / R 19 15:56:54 \$ / R 19 16:00:19 \$ / R 19 16:02:01 \$ / R 19 16:02:01 \$ / R 19 16:02:01 \$ / R 19 16:02:18 \$ / R 19 16:02:18 \$ / R 19 16:06:16 \$ / R 19 16:06:16 \$ / R 19 16:06:20 \$ / R 19	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1,268	1,268,000	15.2884		19,385,691.20 Client	Buy
14:58:23 \$ / R 19 15:01:51 \$ / R 19 15:11:02 \$ / R 19 15:11:02 \$ / R 19 15:39:32 \$ / R 19 15:51:47 \$ / R 19 15:56:18 \$ / R 19 15:56:38 \$ / R 19 15:56:51 \$ / R 19 15:56:54 \$ / R 19 16:00:19 \$ / R 19 16:00:19 \$ / R 19 16:02:01 \$ / R 19 16:02:01 \$ / R 19 16:02:01 \$ / R 19 16:02:18 \$ / R 19 16:02:18 \$ / R 19 16:03:36 \$ / R 19 16:06:16 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	531	531,000	15.2884		8,118,140.40 Client	Buy
15:01:51 \$ / R 19 15:11:02 \$ / R 19 15:11:02 \$ / R 19 15:39:32 \$ / R 19 15:51:47 \$ / R 19 15:51:47 \$ / R 19 15:56:18 \$ / R 19 15:56:38 \$ / R 19 15:56:51 \$ / R 19 15:56:51 \$ / R 19 15:56:54 \$ / R 19 15:56:54 \$ / R 19 16:00:19 \$ / R 19 16:00:01 \$ / R 19 16:02:01 \$ / R 19 16:02:01 \$ / R 19 16:02:01 \$ / R 19 16:02:18 \$ / R 19 16:02:18 \$ / R 19 16:03:36 \$ / R 19 16:06:16 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	852	852,000	15.2884		13,025,716.80 Client	Buy
15:11:02 \$ / R 19 15:11:02 \$ / R 19 15:39:32 \$ / R 19 15:51:47 \$ / R 19 15:51:47 \$ / R 19 15:56:18 \$ / R 19 15:56:38 \$ / R 19 15:56:51 \$ / R 19 15:56:51 \$ / R 19 15:56:54 \$ / R 19 15:56:54 \$ / R 19 16:00:19 \$ / R 19 16:00:19 \$ / R 19 16:02:01 \$ / R 19 16:02:18 \$ / R 19 16:02:18 \$ / R 19 16:03:36 \$ / R 19 16:06:16 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	15.2884		30,576,800.00 Client	Buy
15:11:02 \$ / R 19 15:39:32 \$ / R 19 15:51:47 \$ / R 19 15:51:47 \$ / R 19 15:56:18 \$ / R 19 15:56:38 \$ / R 19 15:56:51 \$ / R 19 15:56:51 \$ / R 19 15:56:54 \$ / R 19 15:56:54 \$ / R 19 15:56:54 \$ / R 19 16:00:19 \$ / R 19 16:00:19 \$ / R 19 16:02:01 \$ / R 19 16:02:01 \$ / R 19 16:02:01 \$ / R 19 16:02:18 \$ / R 19 16:02:18 \$ / R 19 16:03:36 \$ / R 19 16:06:16 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	68	68,000	15.2174		(1,034,783.20) Member	Sell
15:39:32 \$ / R 19 15:51:47 \$ / R 19 15:51:47 \$ / R 19 15:56:18 \$ / R 19 15:56:38 \$ / R 19 15:56:51 \$ / R 19 15:56:51 \$ / R 19 15:56:54 \$ / R 19 15:56:54 \$ / R 19 16:00:19 \$ / R 19 16:00:19 \$ / R 19 16:02:01 \$ / R 19 16:02:18 \$ / R 19 16:02:18 \$ / R 19 16:03:36 \$ / R 19 16:06:16 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19	/ R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	15.4889		(774,445.00) Member	Sell
15:51:47 \$ / R 19 15:51:47 \$ / R 19 15:56:18 \$ / R 19 15:56:38 \$ / R 19 15:56:51 \$ / R 19 15:56:51 \$ / R 19 15:56:54 \$ / R 19 15:56:54 \$ / R 19 16:00:19 \$ / R 19 16:00:19 \$ / R 19 16:02:01 \$ / R 19 16:02:18 \$ / R 19 16:02:18 \$ / R 19 16:03:36 \$ / R 19 16:06:16 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19	/ R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	15.4889		774,445.00 Client	Buy
15:51:47 \$ / R 19 15:56:18 \$ / R 19 15:56:38 \$ / R 19 15:56:51 \$ / R 19 15:56:51 \$ / R 19 15:56:54 \$ / R 19 15:56:54 \$ / R 19 16:00:19 \$ / R 19 16:00:19 \$ / R 19 16:02:01 \$ / R 19 16:02:18 \$ / R 19 16:02:18 \$ / R 19 16:03:36 \$ / R 19 16:06:16 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	74	74,000	15.2154		(1,125,939.60) Member	Sell
15:56:18 \$ / R 19 15:56:38 \$ / R 19 15:56:53 \$ / R 19 15:56:51 \$ / R 19 15:56:54 \$ / R 19 15:56:54 \$ / R 19 15:56:54 \$ / R 19 16:00:19 \$ / R 19 16:00:19 \$ / R 19 16:02:01 \$ / R 19 16:02:18 \$ / R 19 16:02:18 \$ / R 19 16:03:36 \$ / R 19 16:06:16 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.2048		(1,520,480.00) Member	Sell
15:56:38 \$ / R 19 15:56:53 \$ / R 19 15:56:51 \$ / R 19 15:56:54 \$ / R 19 15:56:54 \$ / R 19 15:56:54 \$ / R 19 16:00:19 \$ / R 19 16:00:19 \$ / R 19 16:02:01 \$ / R 19 16:02:18 \$ / R 19 16:02:18 \$ / R 19 16:03:36 \$ / R 19 16:06:16 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.2048		1,520,480.00 Client	Buy
15:56:38 \$ / R 19 15:56:38 \$ / R 19 15:56:38 \$ / R 19 15:56:51 \$ / R 19 15:56:51 \$ / R 19 15:56:54 \$ / R 19 15:56:54 \$ / R 19 15:56:54 \$ / R 19 16:00:19 \$ / R 19 16:00:01 \$ / R 19 16:02:01 \$ / R 19 16:02:01 \$ / R 19 16:02:01 \$ / R 19 16:02:18 \$ / R 19 16:02:18 \$ / R 19 16:02:18 \$ / R 19 16:03:36 \$ / R 19 16:06:16 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.1815		3,795,375.00 Member	Buy
15:56:38 \$ / R 19 15:56:38 \$ / R 19 15:56:51 \$ / R 19 15:56:51 \$ / R 19 15:56:54 \$ / R 19 15:56:54 \$ / R 19 15:56:54 \$ / R 19 16:00:19 \$ / R 19 16:00:01 \$ / R 19 16:02:01 \$ / R 19 16:02:01 \$ / R 19 16:02:01 \$ / R 19 16:02:18 \$ / R 19 16:02:18 \$ / R 19 16:03:36 \$ / R 19 16:06:16 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.1850		75,925.00 Client	Buy
15:56:38 \$ / R 19 15:56:51 \$ / R 19 15:56:51 \$ / R 19 15:56:54 \$ / R 19 15:56:54 \$ / R 19 15:56:54 \$ / R 19 16:00:19 \$ / R 19 16:02:01 \$ / R 19 16:02:18 \$ / R 19 16:02:18 \$ / R 19 16:03:36 \$ / R 19 16:06:16 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.1850		(75,925.00) Client	Sell
15:56:51 \$ / R 19 15:56:54 \$ / R 19 16:00:19 \$ / R 19 16:02:01 \$ / R 19 16:02:18 \$ / R 19 16:02:18 \$ / R 19 16:03:36 \$ / R 19 16:06:16 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1	1,000	15.1850		(15,185.00) Client	Sell
15:56:51 \$ / R 19 15:56:54 \$ / R 19 15:56:54 \$ / R 19 16:00:19 \$ / R 19 16:02:01 \$ / R 19 16:02:18 \$ / R 19 16:02:18 \$ / R 19 16:03:36 \$ / R 19 16:06:16 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1	1,000	15.1850		15,185.00 Client	Buy
15:56:54 \$ / R 19 15:56:54 \$ / R 19 15:56:54 \$ / R 19 16:00:19 \$ / R 19 16:02:01 \$ / R 19 16:02:18 \$ / R 19 16:02:18 \$ / R 19 16:03:36 \$ / R 19 16:06:16 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	14	14,000	15.1850		(212,590.00) Member	Sell
15:56:54 \$ / R 19 16:00:19 \$ / R 19 16:00:19 \$ / R 19 16:02:01 \$ / R 19 16:02:18 \$ / R 19 16:02:18 \$ / R 19 16:03:36 \$ / R 19 16:06:16 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	14	14,000	15.1850		212,590.00 Client	Buy
16:00:19 \$ / R 19 16:00:19 \$ / R 19 16:02:01 \$ / R 19 16:02:18 \$ / R 19 16:02:18 \$ / R 19 16:03:36 \$ / R 19 16:06:16 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	4	4,000	15.1800		(60,720.00) Member	Sell
16:00:19 \$ / R 19 16:02:01 \$ / R 19 16:02:18 \$ / R 19 16:02:18 \$ / R 19 16:03:36 \$ / R 19 16:06:16 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	4	4,000	15.1800		60,720.00 Client	Buy
16:02:01 \$ / R 19 16:02:18 \$ / R 19 16:02:18 \$ / R 19 16:03:36 \$ / R 19 16:06:16 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.1765		(3,794,125.00) Client	Sell
16:02:01 \$ / R 19 16:02:01 \$ / R 19 16:02:01 \$ / R 19 16:02:18 \$ / R 19 16:02:18 \$ / R 19 16:03:36 \$ / R 19 16:06:16 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.1765		3,794,125.00 Member	Buy
16:02:01 \$ / R 19 16:02:01 \$ / R 19 16:02:18 \$ / R 19 16:02:18 \$ / R 19 16:03:36 \$ / R 19 16:06:16 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	15.1720		(30,344.00) Client	Sell
16:02:01 \$ / R 19 16:02:18 \$ / R 19 16:02:18 \$ / R 19 16:03:36 \$ / R 19 16:06:16 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	15.1720		30,344.00 Client	Buy
16:02:18 \$ / R 19 16:02:18 \$ / R 19 16:03:36 \$ / R 19 16:06:16 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	15.1700		(758,500.00) Client	Sell
16:02:18 \$ / R 19 16:03:36 \$ / R 19 16:06:16 \$ / R 19 16:06:16 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	15.1700		758,500.00 Client	Buy
16:03:36 \$ / R 19 16:06:16 \$ / R 19 16:06:16 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.1600		151,600.00 Client	Buy
16:03:36 \$ / R 19 16:06:16 \$ / R 19 16:06:16 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.1600		(151,600.00) Client	Sell
16:06:16 \$ / R 19 16:06:20 \$ / R 19 16:06:20 \$ / R 19	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.1490		3,787,250.00 Member	Buy
16:06:20 \$ / R 19 16:06:20 \$ / R 19	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	150	150,000	15.1525		2,272,875.00 Client	Buy
16:06:20 \$ / R 19	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	150	150,000	15.1525		(2,272,875.00) Member	Sell
	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.1575		75,787.50 Client	Buy
16·06·42 \$ / R 19	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.1575		(75,787.50) Member	Sell
	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.1665		(151,665.00) Member	Sell
	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.1665		151,665.00 Client	Buy
	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.1440		3,786,000.00 Member	Buy
	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.1440		(3,786,000.00) Client	Sell
	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.1590		(1,515,900.00) Member	Sell
	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	663	663,000	15.1490		(10,043,787.00) Client	Sell
	/ R 29/07/2016	Any day expiry	0.00	1	1,000	106	106,000	14.9974		(1,589,724.40) Member	Sell
	/ R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	663	663,000	15.1490		10,043,787.00 Member	Buy

Page 6 of 13 2016/06/29, 06:15:59PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
16:11:03	\$ / R 15/07/2016	Any day expiry	0.00	1	1,000	370	370,000	14.9555		(5,533,535.00) Member	Sell
16:11:03	\$ / R 15/07/2016	Any day expiry	0.00	1	1,000	370	370,000	14.9555		5,533,535.00 Client	Buy
16:11:03	\$ / R 29/07/2016	Any day expiry	0.00	1	1,000	106	106,000	14.9974		1,589,724.40 Client	Buy
16:13:13	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	15.1598		303,196.00 Client	Buy
16:13:13	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	15.1598		(303,196.00) Member	Sell
16:14:57	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.1540		1,515,400.00 Client	Buy
16:14:57	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.1540		(1,515,400.00) Member	Sell
16:16:41	\$ / R 05/08/2016	Any day expiry	0.00	1	1,000	187	187,000	15.0218		(2,809,076.60) Member	Sell
16:16:41	\$ / R 05/08/2016	Any day expiry	0.00	1	1,000	187	187,000	15.0218		2,809,076.60 Client	Buy
16:16:59	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	65	65,000	15.1420		(984,230.00) Member	Sell
16:16:59	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	65	65,000	15.1420		984,230.00 Client	Buy
16:18:49	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.1382		75,691.00 Client	Buy
16:18:49	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.1382		(75,691.00) Member	Sell
16:19:01	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	150	150,000	15.2525		2,287,875.00 Client	Buy
16:19:26	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	750	750,000	15.1400		11,355,000.00 Client	Buy
16:19:26	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	750	750,000	15.1400		(11,355,000.00) Member	Sell
16:19:38	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	4	4,000	15.1325		60,530.00 Client	Buy
16:20:48	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	12	12,000	15.1390		181,668.00 Member	Buy
16:20:48	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	12	12,000	15.1390		(181,668.00) Client	Sell
16:21:36	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2,100	2,100,000	15.1842		(31,886,820.00) Member	Sell
16:27:17	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.1742		1,517,420.00 Client	Buy
16:27:17	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.1742		(1,517,420.00) Member	Sell
16:29:45	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	25	25,000	15.7180		(392,950.00) Member	Sell
16:29:45	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	25	25,000	15.7180		392,950.00 Client	Buy
16:35:13	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	79	79,000	15.1875		1,199,812.50 Member	Buy
16:35:13	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	28	28,000	15.2315		426,482.00 Member	Buy
16:35:13	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	79	79,000	15.2315		1,203,288.50 Member	Buy
16:35:13	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	28	28,000	15.1875		425,250.00 Member	Buy
16:35:13	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	79	79,000	15.2160		1,202,064.00 Member	Buy
16:35:13	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	28	28,000	15.2160		426,048.00 Member	Buy
16:35:19	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.1400		75,700.00 Client	Buy
16:35:19	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.1400		(75,700.00) Client	Sell
16:35:19	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	15.1400		302,800.00 Client	Buy
16:35:19	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	15.1400		(302,800.00) Client	Sell
16:36:15	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.1350		75,675.00 Client	Buy
16:36:15	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.1350		(75,675.00) Client	Sell
16:37:00	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	15.2605		(763,025.00) Member	Sell
16:37:00	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	365	365,000	15.2605		5,570,082.50 Client	Buy
16:37:00	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	15.2605		763,025.00 Client	Buy
16:37:00	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	365	365,000	15.2605		(5,570,082.50) Member	Sell
16:37:12	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.1300		(1,513,000.00) Client	Sell
16:37:52	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	79	79,000	15.2160		(1,202,064.00) Member	Sell
16:37:59	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	79	79,000	15.2315		(1,203,288.50) Member	Sell

Page 7 of 13 2016/06/29, 06:15:59PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
16:38:24	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	79	79,000	15.1875		(1,199,812.50) Member	Sell
16:38:34	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	28	28,000	15.2160		(426,048.00) Member	Sell
16:38:47	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	28	28,000	15.2315		(426,482.00) Member	Sell
16:38:55	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	28	28,000	15.1875		(425,250.00) Member	Sell
16:39:19	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	15	15,000	15.1200		226,800.00 Client	Buy
16:39:19	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	15	15,000	15.1200		(226,800.00) Client	Sell
16:39:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.1246		(75,623.00) Member	Sell
16:39:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.1246		75,623.00 Client	Buy
16:40:10	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1	1,000	15.1100		(15,110.00) Member	Sell
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	28	28,000	15.1875		425,250.00 Member	Buy
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	15.0900		(7,545,000.00) Member	Sell
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	133	133,000	15.2160		2,023,728.00 Member	Buy
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	15.1875		(30,375.00) Client	Sell
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	208	208,000	15.2160		(3,164,928.00) Client	Sell
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	120	120,000	15.1875		1,822,500.00 Member	Buy
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	133	133,000	15.2315		2,025,789.50 Member	Buy
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	208	208,000	15.2315		3,168,152.00 Member	Buy
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	208	208,000	15.1875		(3,159,000.00) Client	Sell
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	120	120,000	15.2160		(1,825,920.00) Client	Sell
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	15.2315		(30,463.00) Client	Sell
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	719	719,000	15.2315		(10,951,448.50) Client	Sell
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	120	120,000	15.2160		1,825,920.00 Member	Buy
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	120	120,000	15.2315		1,827,780.00 Member	Buy
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	719	719,000	15.2315		10,951,448.50 Member	Buy
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	722	722,000	15.1875		10,965,375.00 Member	Buy
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	15.2315		30,463.00 Member	Buy
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	15.1875		30,375.00 Member	Buy
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	208	208,000	15.1875		3,159,000.00 Member	Buy
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	79	79,000	15.2315		(1,203,288.50) Client	Sell
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	28	28,000	15.2160		426,048.00 Member	Buy
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	79	79,000	15.2160		(1,202,064.00) Client	Sell
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	208	208,000	15.2160		3,164,928.00 Member	Buy
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	28	28,000	15.2315		426,482.00 Member	Buy
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	28	28,000	15.2315		(426,482.00) Client	Sell
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	79	79,000	15.1875		(1,199,812.50) Client	Sell
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	79	79,000	15.2160		1,202,064.00 Member	Buy
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	79	79,000	15.2315		1,203,288.50 Member	Buy
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	28	28,000	15.2160		(426,048.00) Client	Sell
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	15.2160		(30,432.00) Client	Sell
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	720	720,000	15.2160		10,955,520.00 Member	Buy
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	120	120,000	15.1875		(1,822,500.00) Client	Sell
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	133	133,000	15.2315		(2,025,789.50) Client	Sell
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	28	28,000	15.1875		(425,250.00) Client	Sell

Page 8 of 13 2016/06/29, 06:15:59PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	120	120,000	15.2315		(1,827,780.00) Client	Sell
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	208	208,000	15.2315		(3,168,152.00) Client	Sell
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	133	133,000	15.2160		(2,023,728.00) Client	Sell
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	15.0900		7,545,000.00 Client	Buy
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	133	133,000	15.1875		(2,019,937.50) Client	Sell
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	15.2160		30,432.00 Member	Buy
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	79	79,000	15.1875		1,199,812.50 Member	Buy
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	722	722,000	15.1875		(10,965,375.00) Client	Sell
16:40:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	133	133,000	15.1875		2,019,937.50 Member	Buy
16:41:14	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	3	3,000	15.1000		(45,300.00) Member	Sell
16:41:14	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	3	3,000	15.1000		45,300.00 Client	Buy
16:41:32	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1	1,000	15.1180		(15,118.00) Member	Sell
16:41:32	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1	1,000	15.1180		15,118.00 Client	Buy
16:42:40	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.1046		(75,523.00) Member	Sell
16:42:40	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.1046		75,523.00 Client	Buy
16:45:06	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.0992		(75,496.00) Member	Sell
16:45:06	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.0992		75,496.00 Client	Buy
16:45:06	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.0992		(1,509,920.00) Member	Sell
16:45:06	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.0992		1,509,920.00 Client	Buy
16:45:22	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	3	3,000	15.1022		(45,306.60) Member	Sell
16:45:22	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	3	3,000	15.1022		45,306.60 Client	Buy
16:47:42	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	720	720,000	15.2160		(10,955,520.00) Client	Sell
16:48:21	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	15.1000		(30,200.00) Member	Sell
16:48:52	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1	1,000	15.1042		(15,104.20) Member	Sell
16:48:52	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1	1,000	15.1042		15,104.20 Client	Buy
16:50:14	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.0960		75,480.00 Client	Buy
16:50:14	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1	1,000	15.1000		(15,100.00) Member	Sell
16:50:23	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.0979		(150,979.00) Member	Sell
16:50:23	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	15.0979		150,979.00 Client	Buy
16:50:47	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	15	15,000	15.0925		(226,387.50) Member	Sell
16:50:47	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	15	15,000	15.0925		226,387.50 Client	Buy
16:52:40	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	370	370,000	15.0947		(5,585,039.00) Member	Sell
16:52:47	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	4	4,000	15.0987		(60,394.80) Member	Sell
16:52:47	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	4	4,000	15.0987		60,394.80 Client	Buy
16:53:02	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	15.0900		(30,180.00) Member	Sell
16:53:02	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	6	6,000	15.0894		(90,536.40) Member	Sell
16:53:02	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	6	6,000	15.0894		90,536.40 Client	Buy
16:53:09	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	150	150,000	15.0821		(2,262,315.00) Member	Sell
16:54:51	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	60	60,000	15.0713		(904,278.00) Member	Sell
16:54:51	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	60	60,000	15.0713		904,278.00 Client	Buy
16:55:05	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	15.0750		(15,075,000.00) Member	Sell
16:55:05	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	15.0750		15,075,000.00 Client	Buy
16:55:14	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	150	150,000	15.0845		(2,262,675.00) Member	Sell

Page 9 of 13 2016/06/29, 06:15:59PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Premium Value Trade Rate Type	Buy/ Sell
16:55:46	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	15.0730	(376,825.00) Member	Sell
16:56:16	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	750	750,000	15.0725	11,304,375.00 Client	Buy
16:56:16	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	750	750,000	15.0725	(11,304,375.00) Member	Sell
16:56:26	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	600	600,000	15.0976	(9,058,560.00) Member	Sell
16:56:26	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	70	70,000	15.0976	1,056,832.00 Client	Buy
16:56:26	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	70	70,000	15.0976	(1,056,832.00) Member	Sell
16:56:26	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	600	600,000	15.0976	9,058,560.00 Client	Buy
16:56:58	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	15.0723	(376,807.50) Member	Sell
16:57:11	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	15.0723	376,807.50 Client	Buy
16:57:19	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	15.0730	376,825.00 Client	Buy
17:00:21	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	15.4708	(7,735,400.00) Client	Sell
17:00:31	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1,354	1,354,000	15.4698	(20,946,109.20) Client	Sell
17:03:41	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	15.2859	(3,057,180.00) Member	Sell
17:03:41	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	15.2859	3,057,180.00 Client	Buy
17:06:31	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.3560	(1,535,600.00) Client	Sell
17:08:05	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	15.2800	382,000.00 Client	Buy
17:08:56	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.1350	(1,513,500.00) Member	Sell
17:09:58	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	15.0669	30,133.80 Client	Buy
17:09:58	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	15.0669	(30,133.80) Member	Sell
17:14:28	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	30	30,000	15.1350	454,050.00 Client	Buy
17:14:28	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	70	70,000	15.1350	1,059,450.00 Client	Buy
17:18:55	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.0710	(1,507,100.00) Member	Sell
17:18:55	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.0510	1,505,100.00 Member	Buy
17:21:11	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.0460	1,504,600.00 Member	Buy
17:21:11	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.0460	(1,504,600.00) Client	Sell
17:36:39	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	15.3450	(30,690,000.00) Member	Sell
17:36:39	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	15.3450	30,690,000.00 Client	Buy
17:44:11	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	15.4250	308,500.00 Client	Buy
18:01:47	\$ / R 29/06/2016	Any day expiry	0.00	1	1,000	339	339,000	14.9327	5,062,185.30 Member	Buy
18:01:47	\$ / R 29/06/2016	Any day expiry	0.00	1	1,000	339	339,000	14.9327	(5,062,185.30) Member	Sell
Total Futu				196		52,101	52,101,000		797,507,759.40	
Total Opti	6 / R Any day expiry			196		52,101	52,101,000		797,507,759.40	
		Foreign Evolungo Eutura	0.00	1	100.000			15 2200	(4.522.000.00) Mambar	Call
11:12:56	\$ / R MAXI 19/09/2016		0.00		100,000	1	100,000	15.2300	(1,523,000.00) Member	Sell
11:12:56	\$ / R MAXI 19/09/2016	· ·	0.00	1	100,000	1	100,000	15.2300	1,523,000.00 Client	Buy
16:00:47	\$ / R MAXI 19/09/2016	· ·	0.00	1	100,000	1	100,000	15.1800	1,518,000.00 Client	Buy
16:00:47 16:14:04	\$ / R MAXI 19/09/2016	•	0.00	1	100,000	1	100,000	15.1800 15.1500	(1,518,000.00) Member	Sell
16:14:04	\$ / R MAXI 19/09/2016		0.00	1	100,000	1	100,000	15.1500 15.1500	1,515,000.00 Client	Buy
16:14:04 16:41:11	\$ / R MAXI 19/09/2016 \$ / R MAXI 19/09/2016	•	0.00	1 1	100,000	1	100,000	15.1500 15.1000	(1,515,000.00) Member	Sell
	\$ / R MAXI 19/09/2016		0.00		100,000	1	100,000	15.1000	(1,510,000.00) Member	Sell
16:41:11	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	1	100,000	15.1000	1,510,000.00 Client	Buy

Page 10 of 13 2016/06/29, 06:15:59PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
Total Futu	ires			4		4	400,000			6,066,000.00	
Total Opti	ons										
Total for \$	/ R MAXI Foreign Ex	change Future		4		4	400,000			6,066,000.00	
10:00:05	£ / R 19/09/2016	Foreign Exchange Future	0.0	0 1	1,000	15	15,000	20.4529		(306,793.50) Member	Sell
10:02:43	£ / R 13/03/2017	Foreign Exchange Future	0.0	0 1	1,000	30	30,000	21.2200		636,600.00 Client	Buy
10:02:43	£ / R 13/03/2017	Foreign Exchange Future	0.0	0 1	1,000	30	30,000	21.2200		(636,600.00) Member	Sell
11:01:14	£ / R 19/09/2016	Foreign Exchange Future	0.0	0 1	1,000	10	10,000	20.4215		(204,215.00) Member	Sell
11:01:15	£ / R 19/09/2016	Foreign Exchange Future	0.0	0 1	1,000	5	5,000	20.4201		102,100.50 Client	Buy
11:01:15	£ / R 19/09/2016	Foreign Exchange Future	0.0	0 1	1,000	5	5,000	20.4201		(102,100.50) Member	Sell
11:40:09	£ / R 19/09/2016	Foreign Exchange Future	0.0	0 1	1,000	11	11,000	20.4553		225,008.30 Member	Buy
11:40:09	£ / R 19/09/2016	Foreign Exchange Future	0.0	0 1	1,000	11	11,000	20.4553		(225,008.30) Member	Sell
11:41:02	£ / R 19/09/2016	Foreign Exchange Future	0.0	0 1	1,000	11	11,000	20.4244		(224,668.40) Member	Sell
11:41:02	£ / R 19/09/2016	Foreign Exchange Future	0.0	0 1	1,000	11	11,000	20.4244		224,668.40 Member	Buy
13:31:46	£ / R 19/09/2016	Foreign Exchange Future	0.0	0 1	1,000	15	15,000	20.5200		307,800.00 Member	Buy
3:50:02	£ / R 15/08/2016	Any day expiry	0.0	0 1	1,000	59	59,000	20.3752		(1,202,136.80) Member	Sell
3:50:02	£ / R 15/08/2016	Any day expiry	0.0	0 1	1,000	59	59,000	20.3752		1,202,136.80 Client	Buy
3:55:38	£ / R 19/09/2016	Foreign Exchange Future	0.0	0 1	1,000	60	60,000	20.4930		1,229,580.00 Member	Buy
3:55:38	£ / R 19/09/2016	Foreign Exchange Future	0.0	0 1	1,000	60	60,000	20.4930		(1,229,580.00) Member	Sell
4:38:31	£ / R 19/09/2016	Foreign Exchange Future	0.0	0 1	1,000	15	15,000	20.5200		(307,800.00) Client	Sell
4:56:43	£ / R 19/09/2016	Foreign Exchange Future	0.0	0 1	1,000	10	10,000	20.4800		(204,800.00) Client	Sell
14:56:43	£ / R 19/09/2016	Foreign Exchange Future	0.0	0 1	1,000	10	10,000	20.4800		204,800.00 Member	Buy
14:57:03	£ / R 19/09/2016	Foreign Exchange Future	0.0	0 1	1,000	10	10,000	20.4736		(204,736.00) Client	Sell
14:57:03	£ / R 19/09/2016	Foreign Exchange Future	0.0	0 1	1,000	10	10,000	20.4736		204,736.00 Member	Buy
15:55:36	£ / R 19/09/2016	Foreign Exchange Future	0.0	0 1	1,000	10	10,000	20.5200		(205,200.00) Client	Sell
15:55:36	£ / R 19/09/2016	Foreign Exchange Future	0.0	0 1	1,000	10	10,000	20.5200		205,200.00 Member	Buy
16:02:03	£ / R 19/09/2016	Foreign Exchange Future	0.0	0 1	1,000	11	11,000	20.5300		225,830.00 Client	Buy
6:02:03	£ / R 19/09/2016	Foreign Exchange Future	0.0	0 1	1,000	11	11,000	20.5300		(225,830.00) Member	Sell
16:03:36	£ / R 19/09/2016	Foreign Exchange Future	0.0	0 1	1,000	250	250,000	20.5120		(5,128,000.00) Member	Sell
16:03:36	£ / R 19/09/2016	Foreign Exchange Future	0.0	0 1	1,000	250	250,000	20.5120		5,128,000.00 Client	Buy
16:18:48	£ / R 19/12/2016	Foreign Exchange Future	0.0	0 1	1,000	10	10,000	20.9020		209,020.00 Client	Buy
6:18:48	£ / R 19/12/2016	Foreign Exchange Future	0.0	0 1	1,000	10	10,000	20.9020		(209,020.00) Member	Sell
16:35:22	£ / R 13/03/2017	Foreign Exchange Future	0.0	0 1	1,000	20	20,000	21.2300		424,600.00 Client	Buy
6:35:22	£ / R 13/03/2017	Foreign Exchange Future	0.0	0 1	1,000	20	20,000	21.2300		(424,600.00) Member	Sell
otal Futu	ires			15		525	524,500			10,785,584.25	
Γotal Opti	ons										
Total for £	/ R Foreign Exchang	je Future		15		525	524,500			10,785,584.25	
16:57:30	¥/R 19/09/2016	Foreign Exchange Future	0.0	0 1	100,000	5	500,000	0.1472		73,600.00 Client	Buy
16:57:30	¥ / R 19/09/2016	Foreign Exchange Future	0.0	0 1	100,000	5	500,000	0.1472		(73,600.00) Member	Sell
17:11:20	¥ / R 19/12/2016	Foreign Exchange Future	0.0	0 1	100,000	41	4,100,000	0.1503		616,148.00 Member	Buy

Page 11 of 13 2016/06/29, 06:15:59PM

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
17:11:20	¥ / R 19/12/2016	Foreign Exchange Future		0.00	1	100,000	83	8,300,000	0.1503		1,247,324.00 Member	Buy
17:11:20	¥ / R 19/12/2016	Foreign Exchange Future		0.00	1	100,000	437	43,700,000	0.1503		(6,567,236.00) Client	Sell
17:11:20	¥ / R 19/12/2016	Foreign Exchange Future		0.00	1	100,000	194	19,400,000	0.1503		2,915,432.00 Member	Buy
17:11:20	¥ / R 19/12/2016	Foreign Exchange Future		0.00	1	100,000	83	8,300,000	0.1503		(1,247,324.00) Client	Sell
17:11:20	¥ / R 19/12/2016	Foreign Exchange Future		0.00	1	100,000	194	19,400,000	0.1503		(2,915,432.00) Client	Sell
17:11:20	¥ / R 19/12/2016	Foreign Exchange Future		0.00	1	100,000	437	43,700,000	0.1503		6,567,236.00 Member	Buy
17:11:20	¥ / R 19/12/2016	Foreign Exchange Future		0.00	1	100,000	956	95,600,000	0.1503		14,363,900.00 Member	Buy
17:11:20	¥ / R 19/12/2016	Foreign Exchange Future		0.00	1	100,000	956	95,600,000	0.1503		(14,363,900.00) Client	Sell
17:11:20	¥ / R 19/12/2016	Foreign Exchange Future		0.00	1	100,000	41	4,100,000	0.1503		(616,148.00) Client	Sell
Total Futu	res				6		1,716	171,600,000			25,783,640.00	
Total Option	ons											
Total for ¥	/ R Foreign Exchang	je Future			6		1,716	171,600,000			25,783,640.00	
9:06:50	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	15	15,000	17.0075		(255,112.50) Member	Sell
9:16:22	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	16.9805		(339,610.00) Member	Sell
9:16:52	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	8	8,000	16.9550		135,640.00 Member	Buy
9:16:52	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	8	8,000	16.9550		(135,640.00) Client	Sell
9:31:19	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	11	11,000	17.0050		(187,055.00) Member	Sell
10:46:51	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	16.9305		(338,610.00) Member	Sell
10:51:07	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	30	30,000	16.9474		(508,422.00) Client	Sell
10:51:07	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	30	30,000	16.9474		508,422.00 Member	Buy
11:10:51	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	4	4,000	16.9064		(67,625.60) Member	Sell
11:41:07	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	11	11,000	16.9524		(186,476.40) Member	Sell
13:50:02	€ / R 30/06/2016	Any day expiry		0.00	1	1,000	99	99,000	16.6162		1,645,003.80 Member	Buy
13:50:02	€ / R 30/09/2016	Any day expiry		0.00	1	1,000	34	34,000	16.9840		(577,456.00) Member	Sell
13:50:02	€ / R 29/07/2016	Any day expiry		0.00	1	1,000	65	65,000	16.7298		(1,087,437.00) Member	Sell
13:50:02	€ / R 15/08/2016	Any day expiry		0.00	1	1,000	3	3,000	16.8116		(50,434.80) Member	Sell
13:50:02	€ / R 15/08/2016	Any day expiry		0.00	1	1,000	3	3,000	16.8116		50,434.80 Client	Buy
13:50:02	€ / R 29/07/2016	Any day expiry		0.00	1	1,000	65	65,000	16.7298		1,087,437.00 Client	Buy
13:50:02	€ / R 30/09/2016	Any day expiry		0.00	1	1,000	34	34,000	16.9840		577,456.00 Client	Buy
15:02:00	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	7	7,000	16.9287		(118,500.90) Member	Sell
15:41:31	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	6	6,000	16.9500		(101,700.00) Member	Sell
16:18:40	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	16.8840		(337,680.00) Member	Sell
16:20:36	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	16.8868		(337,736.00) Member	Sell
16:21:32	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	16.8919		(84,459.50) Member	Sell
16:21:32	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	16.8919		84,459.50 Client	Buy
16:37:34	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	34	34,000	16.9739		577,112.60 Client	Buy
16:37:34	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	16.9739		(84,869.50) Member	Sell
16:37:34	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	34	34,000	16.9739		(577,112.60) Member	Sell
16:37:34	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	16.9739		84,869.50 Client	Buy
16:40:37	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	16.8480		(336,960.00) Member	Sell
16:55:26	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	16.7768		(335,536.00) Member	Sell

Page 12 of 13 2016/06/29, 06:15:59PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
16:55:26	€ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	115	115,000	16.9001		1,943,511.50 Client	Buy
16:57:47	€ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	16.7843		(335,686.00) Member	Sell
16:57:47	€ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	40	40,000	16.8356		673,424.00 Client	Buy
Total Futures				16		408	408,000			6,875,945.25	
Total Option	ons										
Total for € / R Foreign Exchange Future				16		408	408,000			6,875,945.25	
10:25:24	AU\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	300	300,000	11.2980		3,389,400.00 Client	Buy
10:25:24	AU\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	300	300,000	11.2980		(3,389,400.00) Member	Sell
Total Futures				1		300	300,000			3,389,400.00	
Total Option	ons										
Total for AU\$ / R Foreign Exchange Future				1		300	300,000			3,389,400.00	
Total Futures				238		55,054	225,333,500			850,408,328.90	
Total Option	ons										
Grand Total for all Instruments				238		55,054	225,333,500			850,408,328.90	